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after t seconds is given by the following.

2
h=47t—>ot
Find all values of t for which the rocket's height is 27 meters.

Round your answer(s) to the nearest hundredth.
{If there is more than one answer, use the "or" button.)
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2 find when the rocket's height is 27 meters, we substitute 27 for kt and
Jve for ¢t .

27=47t—5¢
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Intersection method
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. TI-83 Plu:
A3 Texas INSTRUMENTS SILVER EBITIO

alpha enter = solve

problem...where's the second
answer?
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Day 3 - Question #2;
Finding the maximum or minimum of a quadratic function

Answer the questions below about the quadratic function.

fAlx)=—2x —12x—19

Does the function have a minimum or maximum value?

Minimum Maximum

o

Where does the minimum or maximum value occur?

TI-83 Plus
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X =

What is the function's minimum or maximum value?
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x=-2.999999
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